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= ~ Norton Construction Company purchased a cement mixer on January 1,20+1, for $14,500. The mixer

was expected to have useful life of five years and a residual value of $1,000. The company engineers
establish that the mixer would have a useful life of 7,500 hours. It was used 1,500 hours in 20+1,
2,625 hours in 20+2 2,250 hours in 20+3, 750 hours in 20+4, and 3375 hours in 20+5. The company’s
year end is December 31.



Required: (20%)

1. compute the depreciation expense and carrying value for 20+1 to 20+5, using the following three methods:
(a)straight-line, (b)production, and (c)double-declining balance

2. Prepare the adjusting entry to record the depreciation for 20+1 calculated in 1 (a).

3. Show the balance sheet presentation for the cement mixer after the entry in 2 on December 31, 20+1.

7 ~ You have been reviewing the past 4 years of inventory records of Weston Co. Your investigation has
revealed the following errors:

a. Ending inventory for 1996 was overstated by $25,200 because goods purchased FOB destination
Were included.

b. Sales for 1997 were overstated by $20,000 because sales shipped to customers FOB destination were
included. (These goods had not been included in cost of goods sold for 1998.)

c. Ending inventory for 1997 was overstated by $6,000. The cost of goods in on consignment was
inadvertently included in ending inventory.

d. Ending inventory for 1998 were understated by $9,000. Employee had Failed to count one bin of
merchandise.

e. Purchases for 1998 were overstated by $10,400. A clerk recorded one purchase invoice twice.

f. Ending inventory for 1999 was understated by $4,000. Goods out on consignment were not Included.

The reported net income (net loss) for each year as following :

1996 $90,000

1997 $64,200

1998 $42,000

1999 ($6,000)

Required: calculation of the correct net income for each of the 4 years. (20%)

I ~ The income statement for the year ended December 31, 1998, for ABC Manufacturing Company
contains the following condensed information:

Revenues $6,583,000
Operating expenses(excluding depreciation) $4,920,000

Depreciation expense 880,000 5,800,000
Income before income taxes. $783,000
Income tax expense 353,000
Net income $430,000

Included in operating expenses is a $24,000 loss resulting form the sale of machinery. The following Balance
are reported on ABC’s comparative balance sheet at December 31:

1998 1997
Accounts receivable $775,000 $610,000
Inventories 834,000 867,000
Accounts payable 521,000 501,000

Income tax expense of $353,000 represents the amount paid in 1998.



Required: (20%)
(1) Prepare the cash flows form operating activities section if the cash flows using the indirect method.
(2) Prepare the cash flows form operating activities section of the statement of cash flows using the
direct method.
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